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Fach question has four alternative respanses
marked serially as A, B, €, D. You have to darken
anly one circle or bubble Indicating the correct
answer on the Answer Sheet using BLUE/BLACK
BALL POINT PEN.

After distributing the OMR sheet In the
examination hall, fill the details with hlue/tlack
ball point pen only. Fill the question paper
booklet series on the OMR sheet carefully

1/3 part of the mark(s) of each question will be
deducted for each wrong answer, (A wrong
ANSWer means an Incorrect answer or more
than one answers for any question. Leaving all
the relevant circles or bubbles of any question
blank will not be considered aswrong answer.)
Mabile Phone or any ather electronic gadget in
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per rules.
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srgafera faee & g $ifag-
FATHUEA TTUTTE

(a) FYeh meTHTS Rt AR

(b) ST HATHUES HiaTeTe =y

(c) aTgareT TaTvS ATy Radt

(d) Farerg HEATHUSA airfters s

select the mismatched option-
Praja Mandal Founder

(a) Karauli Praja Mandal  Trilokchand
Mathur

(b) Jaisalmer Praja Mandal Mithalal Vyas

(c) Banswara Praja Mandal Bhupendranath
Trivedi

(d) Kushalgarh Praja Mangilal
Bhavya

Mandal
aroreu & v  fr mRor & Sffa ey
FreTeuT §Y & ST Ur?

(a) Feftg T2

(b) =g T

(¢) Tam T

(d) w8 T
Under which phase in the integration of

Rajasthan, Udaipur was associated with the

Rajasthan Union?
(a) 3™ Phase
(b) 4" Phase
(c}) 5" Phase

(d) 6™ Phase
Tl aaa F ant A ofa/ad fwea & ea

-
{a}mirnmrﬁmaﬂwsﬁmmmﬁﬁ

ara |
{b}mﬂmﬁlﬁwtﬁl%mﬂm&

o oz et

(c) 5@ Evaar & it s @R 3 o o g o 4
Td eudl ®1 i & 9

\d) T wvaan & s o mrent ) gt @ oyl &
T TR ), W e gy & e o e A

i
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Series C

Select the appropriate/correct option
regarding the Kalibanga Civilization-

(a) The Kalibanga civilization was discovered
in the year 1955 by Dayaram Sahnj,

(b) Six holes were found in the skyll of 3
child's skeleton in Kalibanga civilization,

(c) The people of this civilization used sun-
dried bricks and stones for building houses,
(d) The people of this civilization used to bury
their deceased with ornaments and jewellery,
which is praof of their support of the co ncept
of life after death,

Freafafaa 7 @ R s d smafts o § 30
& ATQY TYUT IT=I0T FAA E?

(a) smes waan

(b) reftarmT avar

(c) sTemue Tar

(d) ot Evaar

Fram which of the following civilizations
copper weapons and tools have been found
in abundance?

(a) Ahar Civilization

(b) Kalibanga Civilization

(c) Balathal Civilization

(d) Ganeshwar Civilization

=fgra & AfA 9% Fedtardt (1576 £.) # mama &
Fa1 & ‘geraer’ w1 Aqed [ R ur?

(a) g @ QW = -

(b) Fmam a1

(c) srawet

(d) e oS .
Who led the ‘Harawal’ of Pratap's army In

the famous battle of Haldighati (1576 AD)?
(a) Hakim Kha Soor
(b) Jhala Bida

(c) Jaimal

(d) Jhala Ajja

srgafera Rga &1 T9 Hifg-
WS ATEAFTA

(a) ra e . 1465-1504 %

(b) ¥ et 1505-1526 .

(c) maaeaomd - 1541-1574 g

(d) 70 TafdE 1574-1612 %,
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Select the mismatched option-
Ruler Reign
(a) Rao Bika - 1465-1504 AD.
{b) Rao Jaitsi - 1506-1526 AD,
{c) Rao Kalyanmal - 1541-1574 AD.
(d) Rao Raisingh -  1574-1612 AD.
Prafafaa § @ == g a9y s b, e
wit w it dwure & g v Y oF Ruar
framg &Y ar=aen merT e &g Fam E=g o2
(a) wmamem
(b) wr=fite-
(c) Prsiforon wrafde
(d) ward wrafiE

Who among the following was the first Rajput
ruler, who tried to stop the Sati Pratha and
made rules to recognize widow remarriage?

(a) Bhagwandas

(b) Mansingh

(c) Mirzaraja Jaisingh

{d) Sawai Jai Singh

fr=fafaa 4 €@ a9-9 dledaa @ guar &

HAFHAN 47

(a) Aarsft simfam

(b) ot

(c) arrdg St

(d) wrgeht

Who among the following folk deity was
contemporary to Rao Chunda?
(a) Mehaji Mangalia

(b) Gogaiji

(c) Ramdevii

(d) Pabuji

wa ottt & e o e am ur?
(a) gt @oft

(b) Tem=r it

(c) Ftee <ft

(d) S & & IS =7

What was the name of the father of Saint
Jambhaoji?

(a} Hamirji Jani

{b) Chandmal ji

(¢) Lohat ji

(d) None of the above

10.
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Series C

¥ ud o wad afw ofk mpwrgel S S
e wrg & sy wren 27
(a) =
(b) d=ma
(c) sz
(d) wrze
In which month Paryushan,
sacred and important festival of Jainism is
celebrated?
{(a) Chaitra
(b) Vaishakh
(c) Ashadha
(d) Bhadrapada
Prafaf@ada wv-ar de Ao A" F A |/
ufirg &2
(a)Femadt #r
(o) afrmmaran A
() aweofrarar dan
(d) =feemf #a
Which of the following Fair is famous with
the name of “Ballgadi Mela”
(a) Kaila Devi Fair
{b) Sheetlamata Fair
(c) Karnimata Fair
{(d) Kapilmuni Fair
AT’ STEOT TEAT A -
(a) oTat &
(b) =¥at &
(c)=mid
(d) grut &
'Nogri* ornament is worn onfin-
{a) Feet
(b) Teeth
(c) Ears
(d) Hands
HrERm, AR, G, e, T, WA
anft nftrg Feer e 960 & Rear §2
(a) iz 4=t
{b) der =t
(c) Rrurmrg Oht
(d) anterge et

the most
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15.

Nanakram, Sitaram, Surdhwaj, Mulraj,
Ramnath, Sawairam etc. famous painters
belong to which style of painting?
{a) Ajmer Style
{b) Bikaner Style
(c) Kishangarh Style
{d) jodhpur Style
rirsfear” aqr §2
(a) Terera 6w At T 8 U T U TR
{b) ey of o o el et T emE wER
(c) wepait & Rk oz T & P (vgam & )
(d) zroreent A @Tag Tler o o1 UeR WERIT
What is ‘Godaliya’?
{a) A type of pattern found in the major folk
art of Rajasthan
(b) A type of wood found in Rajasthan
{c) A burn mark on the body of animals (for
identification)
(d) A form of Kavad Folk Art in Rajasthan

dreak 1 sEmTE e @ pf & doft & sfmfa |

AT 87

(a) mfe gf
() A= gl
(c) e gt
(t) 2l

Junagarh fort of Bikaner comes unger

which category of fort?

{a) Parikh Fort

(b) Military Fort

(c) Paridh Fart

(d) Auduk Fort

Rrefaie ¥ | Fta-a10 geal ZRT S &6
weft w1 wer ot Ay gt oF fovay swar @2

(a) T g

(b} 7=

(c) gt g

{d} Tz 7=
Which one of the following dances is

performed by men to celebrate the festival
of Phalgun and to celebrate the new crop?
{a) Garba Dance

{b) Bam Dance

{c) Terhtali Dance

{d) Ghudia Dance

17.

18.

10.

20.

o

Series C
vz uftar waRmE wu & e ot e dteren
=T O AT E?

(a) 7919

(b) =i

(c)

(d) e

Which folk drama is traditionally staged by
the Bhatt family even today?
{a) Rammat

{b) Swang

{e) Motanki

{d) Tamasha

‘e e w7

(a) ged= mmf ==

(b) Feme wef

(c) Brermer 2wt

(d) srfas wre

*Duvidha” s the composition of-

{a) ¥advendra Sharma ‘Chandra’

{b) Nathmal Joshi

{e)Vijaydan Detha

{d) Arjundev Charan

oY & SfAgEER Ud QEaaanr NS
dherar=z AftE & S°H FHEl g T UT?

(a) Ferien

(b) st

(c) FEFrme

(d) siterarst

Where was the historian and archaeologist
of Rajasthan Gaurishankar Hirachand Ojha
born?

(a) Sirohi

(b) Jodhpur

(c) Bikaner

(d) Bhilwara

Prefafaa F & R atelt o= et v &1 e
e = & ¥@n 51 |1 §?

(a) wrerdt

(b) et

(c) grerdt

(d) gerst
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On which of the following dialects the
influence of Gujarati language can be
clearly seen?

(a) Malwi

(b) Wagdi

(c) Hadauti

(d) Dhundhadi

AR, fArerg e T 1 e 3 FEl Hafeu §?

(a) ureht

(b) Traemz

(c) =maz

(d) warsdt

Where are Parveriya, Shivpur Ghat and
Sura Ghat passes located?

(a) Pali

{b) Rajsamand

(c) Beawar

(d) Mawli

T Zrer afota orerarg wasr arffaor § & st-ar
(a) Aw

(b) CA'w

{c) BShw

(d) BWhw

Which one of the climate_ regions of
Koppen's climate classification is not a part
of Rajasthan?

(a) Aw

(b) CA'w

(c) BShw

(d) BWhw

Preafaf@ada wa-dt 58 aam 58 K weas
a4 82

(a) 3T

(b) @t

(c) =it

(d) =ma

Which of the following river is the tributary
of Banas River?

(a) Anaas

{b) Khari

{c) Sagi

(d) Chap

26.

27.

Series C

24, ProfEaflm § @ wh-ar Sereer wEu Sy

(In-Situ conservation) =1 G’ﬂl‘ﬁiﬂ L i ﬁ?
(a) Tgta sam
(b) st gose e
() apmmo
(o) FrfZams
Which of tha fallowing is not an e:ample ﬂf
In-%itu conzervation?
(a) National Park
(b} Biosphere Neserve
() Sanctuary
{d) Zoo
ﬁﬂﬁ«'ﬁﬁ!ﬂﬁéﬁ"x‘amummwﬂﬁﬁ it
ot F R e
(a) =mEETE Mivarey
(b) moase v
(¢) eiefe-Taelt arvarog
(d) =t sareg ek
Which of the following sanctuaries is
spread over three districts of Rajasthan?
(a) Nahargarh Sanctuary
(b) Jaisamand Sanctuary
(c) Todgarh-Ravali Sanctuary
(d) Bassi Sanctuary %
Prafaf@a § @ s e seumR e & 5a
ﬂamﬂmﬂmnwﬁﬁﬁgmamﬁnﬁ?
STt 87 144
(a) sre-widt g
(b) wwer-dielt =T
(c) wetigfordt g2t
(d) cfieft-sgft et w2 S
Which of the following soils Is mainly fﬁund ;
in the central and southern part of Uda:pmf_f_:'g
district and Dungarpur district? P
{a) Red-loamy soil
(b) Red-yellow soil
(e} Alluvial soil
{d) Yellow-brown sandy soil -
. 3070, swEd-mifRR  fE IE'-HK wx
F=a v el &7 _ ik L*;
(a) == ; -
(b) A T 7
(c) HemmT S R
(d) ur i 2%
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Raj. 3070, Sharbati-Kohinoor are improved /
hybrid varieties of which crop?

{a) Milist

{b} Whaat

<) Maize

{d) Coron

SETTI-2011 § SR OWew o1 aElim
B s e

dary .ﬂ-..l*

Lo
@ w o
K]

o FY]
fa W

¥y
Al

J

0
I;

(]

{d)
According 1o Census-2011, what is the rural
sex ratio of Rajasthan?

-

Ry Fis
Ve et S e TR e aEa 8, 39 W
TS TS Ogl W S 50 8, 99 ST SETEETe?
{2l T

(ci=e=m

{dj} o= Y

The men of the Bhil twribe tie a turban.on
their head, and also tie a colored band on
it, whatis it called?

{2 Gglad

inints e

icl ledy=

(5] A% of the above

E=mEe T E Ba PR saseE S 500 |
e

=y Er

by
{c) ===

id) #=m

Which of the following districts has a
population density of more than 5007

tal Dausa

fB} Eharatpur

iy Ammar

td} Dholour

T
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33.

Series C
ey & WS wded el d g Hefua

FYTHI & | [deed giAg-
e TUS e
(a) =i w5 - s
blgamss. - g
(SwErym -  a=R:
{d) Siat wgs - OEeET -
Select the relevant option of major tourist
places of Rajasthan and places related to
them-
Tourist Place District
{a) Karna Mahal -  Alwar
{&) Phool Mahal - Bundi
(c} Jaswant Thadas \ Jalore
{d) Mod Mahah_ > Jaisalmer
‘srerT &1 U, WErey @ 8 m afiw &
fog neEp?
(a]Fm
{o) Sr=r-wr
(c) Fm-sae=
{d) &=t
Nathra ki Pal, Thur-Hunder mining area is
famous for which mineral?
{a)} Manganese
{b} Lead-zinc
{c) Iron-ore
{d) Copper
Bofafas § § - af@s g &1 @
FR8?
(a) 9= wiehe
{b) &F=3e ()
(c) ==t
(d) ERfeTs

Which of the following is not an example of
a metallic mineral?

(2} Rock phosphate

{b) Vulcanite (Tungsten)

{c) Lead-zinc

(d) Beryllium




34. ‘wafanfig afglern Ba PR F A
(a) sremr
(b) dewrz
(c) ami
(d) wiex
In which district is the 'Kawai Thermal
Project' located?
(a) Barmer
{b) Bikaner
(c) Baran

(d} Kota
35,  TroreaTs § T SYETOT NTYiNE HEwaear 8, 39

frar F TorewE EER AN WA SEEesEd
srfrar & yEea &7 6 mE?

(a) 27 sadt, 2018 |/

(b) 27 s=ad, 2016 F

(c) 27 weadl, 20154

(d) 27 weadt, 2017 &

Water conservation is the
requirement in Rajasthan, in
direction, when the ‘Jal Swavalamban
Abhiyan' was started by the Rajasthan

primary
this

government?
{a) From January 27, 2018
(b) From January 27, 2016
(c) From February 27, 2013
{d) From February 27, 2017
36, roTeuT & 1857 &t g & g A3, gia e
fraraa & uifafRzed e 97
(a) e fovee
(b) 3zoqR Ramea
(c) e Rarga
(d) witergqr Reraa
At the time of Revolt of 1857 in Rajasthan,
J.D. Hall was the political agent of which
princely state?
(a) Bharatpur Princely State
(b) Udaipur Princely State
{c) Sirohi Princely State
(d) Jodhpur Princely State

B
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37. e 3 wftrg R v wifred deh R
args f aiy ofi- :
(a) ameg
{b) ==
(c) g
(d) situgz

The workplace of famous poet and

revolutionary Kesari Singh Barhath of

Rajasthan was-

(a) Shahpura

(b) Kota

(c) Kathumar

(d) Jedhpur _
38, 'ﬂﬂﬁmﬁzﬁmﬁmﬂmﬂ Faft =

el FTar ui?

{a)ad 1903

(1) = 1901

(c) =4 1905

(d) = 1908

In which year did Rao Krishna singh impose

*Chawri Kar' in Bijolia zone?

(2] Year 1903

(b) Year 1201

{c) Year 1905

(d) Year 1508 £
39, =d 1921 F 42 d==ht Ffrde awr 434 oAy

¥oftife =TT @ 399 U O B wm #

Fura= g off? -

(a) T ®R .

(b} Iﬁvrrﬂw’l'{

(c) emh =k,

(d) TrRrf&an R

In the year 1921,

which ‘Corps® was ¢ '

established in place of 42nd Deoli Regiment

and 43rd Erinpura Regiment? -
{a) Bhil Corps

(b) Meena Corps
{c) Damor Corps
(d) Garasia Corps
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Series C

Chief Minister Ashok Gehlot presented the
first agricultural budget of the state in the
year 2022-23 witil the thought of 'Samyidh
kishan Khusnaai asiastnan’. In this, now
many missicns Ware annaunced for 4.
uphitvnent of agriculture and other seciors
related to farmars?

;L— 16 E5I00E

missions

[ =2
v B

{ch 12 missions
{dd} 10 fussions
g Asy GiES T XS T UF T iy
T G woT SRR, O e F ) By
TASE &S]

*. Renfilai =1 - m?sim SETA Fi
2. e wyE “Tergerdt wEmat & wEnam

&l

3. R SRR =Y - R wifs & o
EG

&) sranust @ - s9% Ae 4 anaeie
e F=g= igl

T

{z)F== 134

(jFes27a

e} &=

{diF=e 4

The main objective of the 'RISE biksha'
pertai is to provide a3 high quality platform,
which empower which of the
foliowing?

1. Tc the students - for the learning of the
caontent.

2. To the Headmaster - for solving school
uroblems.

3. Yo the Education Officers - to monitor
the progress of the school.

4. To teachers - for the enriching of their
personal and professional development.
Code:-

2}oniy 1 and 4

{b}only 2 and 4

(<) Gﬂij 3

id} only 4

will
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44, Trereur & e F a2 w2w’ (RKSMBK) & @aa

fRrer frym 3 3 @ 5 wawaw, 2022 % TEAT
amufE smEvawEdd amEed-1 o mm
Prefafam 4 @ st e s st
wyH ¥ o2 @
(a) T4t
(b) wag
(c) gmue
(d) wrer
Under ‘Rajasthan Ke Shiksha Mein Badhate
Kadam' (RKSMBK), the  Education
Department conducted the Competency
Based RKSMBK Assessment-1 from
November 3 to 5. 2022. Which of the
following district stood first in OCR upload?
(a) Bundi
(h) Bharatpur
(c) Dungarpur
(d) Kota
et Pr:apees gfen Reeor o & v &
g wyE &1 994 Hifg-
(a) 8 diorn &1 YWY WA HEOEA AW 29
o, 2022 =t v
{h]mnﬁwﬁ:aﬁﬁamlﬁmﬁmﬂu
e & sreroeRa wee frenfagl &t g & 2
¥ Py Rgemd %
(c) F:1ees Faersy giwnt i s 8 200 T3 wid
framfi & ard | {@.ﬂ.ﬁ Zrar) = ey e
{d) (b) = () =t=h.atam
In the context of 'Mukhya Mantri Free
Uniform’ Distribution Scheme', select the
incorrect statement-
(a) The scheme was launched by the Hon'ble
Chief Minister on 29th November, 2022,

(b) Under this scheme, 2 sets of uniforms will

be given free of cost to all students studying
in government schools from class I to VIL

{c) Rs.200 will be deposited directly into the
student’s account (through DBT) for stitching
of uniforms available free of cost.

(d) Both (b) and (c) are false

e
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 47.

e

Series C

#Ra R weer deen’ & v & amre
Ty 8- -
fﬂiﬁm*aﬁmﬂ-sﬁmmﬁm
o F Rw e £
(b) =0 gio & 724 UF UeeR ofeE ﬁmn
TRIUSYE, SR g1 Her Rt s 8
(c) 35 diorr & d8d oSN & w0 7 w12
BT & 1 7T T & ATy wHd W & 9 8
{d}mmnmm#mmaﬂﬁﬂ
& ot v ot o 1
In the context of 'Indira Friyadarshini
Puraskar Yojana', the incorrect statement is-
(a) Under this, stheme, 40 thousand rupees
are given to.the eligible girl child of class-8.
{b) Under-this scheme, this award is given by
the Balika Shiksha Foundation, Jaipur.
(c) Under this scheme, class-12 girl students
are given a scooty along with Rs 1 lakh as a prize.
(d) Along with regular studies, girl students
doing coaching are also eligible in this scheme.
RTE-2000 & =r-at wwr ‘wrfws Ren =
qrEgEN U4 IEe go fFa S #F aiefa
wifEfem gl f?
(a) em1-29(1)
(b) emr-30(1)
(c) eme-23
(d) arz- -30(2)
Which section of RTE-200% is not included
under "Curriculum of eifementary education
and its completion'?
(a) Section-29(1)
(b) Section-30(1)

(c) Section-23

(d) Section- -30(2) P8

g oftr wre gl diwE- 2022* t m
oy § was areht mfdred s & wpa oW
e Pt wepett 1 o) Fverr & wdihy

aHEREE

(a) 10
(b) 9

()12
(d) 11




45,

Under the ‘Indira Shakti Fee Punarbharan
Yojana- 2022', the girls studying in
Rajasthan under RTE will now be able to get

free education in private schools till class

||||||||||

(d) 11
“sryrAreaTas HEE whyn K oft 5 s 2,
Fr=fafds & & syt Romg @me &
#q ¥ e Hi &2

1. TTH HT HEY

2. s 7 & fBawer ‘o gwEr wegim
EEi

3, TRt gd ofSas F gl it srgarm

4, wwre famfor F syftam

5. Afars, - gt & daem

F“-

“la)2.3.5

(b)1,2,3,5

1,4, 2

{d)1,2,3,4,5

"The headmaster is considered to bethe

pivot of the educational process”, which of |
the following is the role of the-headmaster |

in the school organization?
1. Staff Management
2. Distribution of wérk-among teachers and
taking their co-operation.
3 Adaptiuﬁ of innovations and innovative
works.
4. Role in budget making.
5. In conducting Curricular, co-curricular
activities
- Code:-
la)2.3.5
(b)1,2,3,5
{c)1,4,2
(d}1,2,3,4,5

; Series ¢
50. Rrarer wavr R & ‘REW ' & wasg 5
arsTe e 8-
(a) Rrarerg ofer
(b) fanerg # w&fia &= Aem
(c) PR & gz o arereH & Famy g
(d) fRemem & il wafagl § '

31,

52,

In the context of the 'developmen work'
of the School Management Committee, tha

*mismatched option is-

(a) School Premises

(b) Playground belonging to the schog|

(c) Up 1o the place of residence of thg children
studying in the school

(d) Properties belongingto'the schog|

gty Ry Frger yea @ e -
(a]-zﬁummnaraﬁzmm%umﬁ:mﬁ
AT 0 § Py ow 98 ammRe & Rrsfon
HEAN

(b) R St a1 A ARETSR 2 R
glemaueey s

()55 Renfidl a1 R araraor @ g
Al

(d) @i siraess =t urd &2 # fady o=t oy gy
Y A9 T

The vision of the National Mission 'NIPUN
Bharat' is-

(a) To create an enabling environment to
ensure universalization of fundamental
literacy and numeracy.

(b) Providing therapeutic facilities for boys
and girls with special needs.

(c) Integration of newly admitted students
with the school environment.

{d) Monitoring the progress of special children
in achieving the learning outcomes.

RTE e, 2009 & fre wrr &t wewr aifewdl @
wai SRR Y e w3 arorewr e ok
sifard arer fven @1 Sifder Prmrasft-2011 &1
(a) ¥mr-37

(b) umr-38-

(c} amr-39~

(d) urr-34

5 | ), . :
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85.

Using the powers conferred by which
section of the RTE Act, 2009, the state
government formulated the Rajasthan
Right of Children to Free and Compulsory
Education Rules, 20117
(a) Section-37
(b) Section-38
(c) Section-39
(d) Section-34
Rigmr =} qroreuT &1 Ao gy F e R
mar?
(a) 1985
(b) 1991
(c) 1987
{d) 1981
When was Chinkara declared as the state
animal of Rajasthan?
(a) 1985
(b) 1991
{c) 1987
(d) 1981
ZroTeurs Y wpE TN e R AT
ditror gtorr it eaTa e gE Ui?
{a) 19 Faw=r, 2020
(b) 19 R, 2021
(c) 1 5=, 2020
(d) 19 73w, 2019
When was the flagship
Rajasthan ‘Indira Gandhi Matritva Poshan
Yojana' started?
(a) November 19, 2020
(b) December 19, 2021
(c) July 1, 2020
(d) November 19, 2019
s feifain Red  &KeE
(CEERI) =gl arafeura 7
(a) aRmTST (FUTR)
(b) T (SAR)
(c) foremeht ()
(d) TR (Fe)

scheme of

56.

57.

58.

SeriesC -
Where is the Central Electronic Engineering:' A
Research Institute [CEERI) located? o
(a) Boranada (Jodhpur)
(b) Kukas (Jaipur}
(c) Pilani (Jhunjhunu)
(d) Ranpur (Kota) -
T oTTE @ wdy R aa A £2
(a) e
(b) em2 ot
(c) tr defie -
(d) e arer _
Bhawna Jat is related to which sport?
(a) Shooting
(b) Hammer Threw,
(c) Para Badminton
(d) Wall(Racing
Prefafaa § | goveus § B S9- 13@'-'53 L
e Faifiers | ur?
(a) Eermr arefiard
(b) gRafER wwET
{c) FFaraTe a¥a
(d) affq urgee -
Which of the following Depu
Minister had the longest tenure in Rajasthan? .
(a) Tikaram Paliwal ' \
(b) Harishankar Bhabhadra
(c) Banwarilal Bairwa
{d) Sachin Pilot
srgifew feea Fr9aa Hifee-

(a) srede- 176 TroaTe o1 s st
(b) rgede-183 Rum oftsg &1 g 3R Iﬂ
gyl ' .ﬁ._
(c) arqeae- 1Eaaam’fmammuf?fml
(d) arede-199 o fadass &t gl
Select the mismatched nptinn-'

ty Chief

(b) Article-183 Chairman. _and' D

Chairman of the Legislative Council.~
(c) Article-188 Oath or affi rmattqn

members.
(d) Article- 199 Definition of M&n



Series
&1 mﬂﬂmﬂﬂﬂﬁmﬁmmﬂmm

59,
ﬂ.ﬁ-lﬂ:ﬁ? J.]ﬂ'ﬁﬂl‘—'f:;ﬁ"q- " oefivar e TR MR R
(A)frerusdfe 3.2k S
(B)sRadanhy . 2 arei fffj:mﬂ;
f‘:]m"fﬂ? '.1 3. = {d}ﬁﬂ'ﬁi
(D) v wfearftsifty 4. gremars Which district administration has recent|
T - P started ‘Abhiyan Sehat’ innovatigp i:
(8) A3 B4 c1-pa2- Rajasthan?
b) A3 B1 c4 D2 {a) Alwar
e} A< B3 C3 D2~ (b) Bikaner
(d} A1 B3 C4 D32 {c] Bhilwara
Match List-I with List-IT- (d) Jaipur _
Temple tocitia 62. weitg nieft pdt HERE S Fan § STy
(A) Geparnath Temple 1. Tonk ﬁmﬂmftﬁ!‘q :
(B) Unhel Jain Temple 2. Barmer i R oD Lo 26
S, 2023 & weErgae)
_ (C) Bisaldev Temple 3. Kota (b) = 240 Pl & et el sest it ey
(D} Rani Bhatiyani Temple 4. Jhalawar = TG (gt
Code:- (c) 57 @t eaien, st 2w dim fvae
() A3 B4 C1 D2 geeREat i B, 3wt dg oy
(8} A3 B1 C4 D-2 iR e e
) A4 B3 C1 D-2 (d] ou wdm @ Wil &1 oo 25.25
(d) A1 B3 C4 D2 W o @ srenfaa J
60. waz o 2022-23 Y  184F vt Il:h?tlfy thzz incorrect 'D.]Jtlﬂl'l regarding
2 3 Rajiv Gandhi Urban Olympic Games-
T T Fh A 4 R 10 T, (a) The Rajiv Gandhi Urban Olympic Games
202 Ft Agz, uret & B mn, @ gl ow are proposed to start from January 26, 2023
et s ey wm? (b} Rajiv Gandhi Urban Olympic Games will be
{a) M= fE S organized in all 240 bodies.

{c) It included Kabaddi, Foothall, Basketball, [

(b) S48, w=er
(c) Priwm anf Tennis ball cricket, Athletics but did not
(d) s et include Kho-Kho game.

In pursuance of the budget announcement 9] Rate jawl SF Ot fompstiem IR
proposed to be organized from 25-28 February.

2022-23, the 1B8th Nati i . :
ational Scout Guide 63. § a2 Maeta ZT A g det

Jamboree was organized at Rohat, Pali & 7 & srerg gd Redwo & fig o @A
from January 4 to 10, 2023, Who was (fRfly) =1 e R w1, 70 A 3 argh siftm

appointed as the president of this fraté 30 Rerar, 2022 =t qegwst & @AE WA
Jamboree? &1 &), 70 AR & snaer £

(a) Govind Singh Dotasara (a) 3ror i

{b) Dr.B.D. Kalla (b) e waw

(c) Niranjan Arya (c) o Ty wrew-

(d) Ashok Gehiot (d) e < - :

=12 - b L

_-.__-_.1nfmpu_: : JALORI GATE CIRCLE, JODHPUR | Support@utkarsh.com | Call us at : 9829 213 213
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rug-

| | Download Answer key

A committee was formed by Chief Minister
Ashok Gehlot to study and analyze the
demands of various employees
organizations, this committee presented its
final report to the Chief Minister on
December 30, 2022, who was the chairman
of this committee?

(a) Arun Goyal

{b) Vijay Goyal

(c) Vijay Swaroop Pathak

{d) Khemraj Chowdhary

areTr & F et st TEE & 4 RS T
£ wftpfy w=mur F AR & g wEE f g,
==ty et OtAT SRRl ST S ?

(a) wwar

(b) TfemmE=

(c) Tmozteft

(d) fEa=

Recently Chief Minister Ashok Gehlot
approved Rs 4 crore for the panorama of
Pannadhay, where will Pannadhay's

. panorama be built?

(a) Roopwas

{b) Chachiyawas

(c) Pandali

{d) Diwer

reTeyr g ffrum Fem (RTDC) Zey wifes &=

aﬂnﬁmﬂaﬂimﬂuﬁzﬁaﬁaﬂﬁhmt_ﬁm

ferg Befterie Sitawrs= |1 =al o= H md? at=Cm
R s © pre=e
(c) arsi TJ};_F;' ss
(d) SresR = 0

Where was the helicopter joyride service
started by the Rajasthan Tourism
Department Corporation (RTDC) to boost
the tourism sector and attract tourists?

(a) Jaipur
(b) Jodhpur
(c) Barmer
(d) Jaisalmer

5 Jeape
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SeriesC
jﬁ/qﬁmguﬂﬂnﬁtmﬂmﬂﬂam e ]
Eﬂm#liﬁﬂﬁ%mﬁmglﬂﬂaﬁi :
‘aE T 1.20 ofy g A o @ dwan qogEE o
AV Rk (zwwerm & U T Aw) war ol
ghmre £
' (a) 14.8% @ AR )y T
(b) 14.4%
(c) 12.8%
(d) 16.8%
A shopkeeper buys-144 articles at the rate
of 90 paise each. 20 articles were broke on
the way{ He sells the remaining articles at
the rate of ¥ 1.20 each. What will be his *
préfit “percentage (up to one decimal .

place)? _ 'x.:-" :
fa) 14.8% :
(b) 14.4%
(c) 12.8%.
{d) 16.8%

57. ﬁqwuﬂmﬁrﬁmmﬁnﬁiﬁﬂmﬂ 2
IR &ifSg- :

uﬁﬁﬂﬁmﬂsuuuaﬁmﬁmsﬂnﬁﬁw
fafay mjj@g’l quT WIS 25% SN
rEar g, a1 gErs H g nﬁ’faﬂ -ﬂﬁm lxw
ghm?
(a) £ 7.50
(Byz10
[c)e12.50
{d) #15




OoUeTs QuEs<iee,

& 30T cooies of 2 Bock are primted ans

sl SIpenses e T 18E and

o guobichcr wanre 2S5 profiz. then
aitrz: mil D= the marked price of 3 oy

oF the Boagk?

f

3
=
L]

mooumdes Zanualy 2t 2 certain rate of
ol mterest Accordingly, what is

T prmnpa! Enoont?

-
t B
S

- ¥

T

Series ¢
#Hﬁgﬁﬁﬁﬁalﬁ@_ﬁs
575 AR AT R TS oy

e S BT
R 2

','_1:'-_;-__'_ e i = 1{

- _-_______._-———_ -

Che | N _:

The average age of three boys is 15 Years. 15

::?,ﬂ'[-eﬂ

age\[in years)
3‘\ rs) of the

their ages are in the rauo 3
what will be the
younges: boy?

%

® o3 =0 4 T
o s =TS NG T A% it
—_!_d-,' L ———
E— 2 — e ———
- LK = 3%
——

Which of the following is 2 factor of &2 +
27y - 36xy - Saxy®

- - =
&) LAXK =2y
Ea oy
o) =X =2
- ‘e -
al h=L =
- -
7 2
--".--l-'-"

T =79 & 9= vus ¥k Eaw s = ST
. 1 5 3o £ § o guw gd REw AR R
T3 === I8 Tedl &) medy = ¥g9e 11
40 21 o 7= bIg F =7 £ £ 11000 [/
wTd £1 3 muw SO0 & ol § o o€ AR

=

R
ajrizis — v L=
7
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e
L
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L g

The fares of first and second class between
two stations are in the ratio 4 : 1 and the
number of passengers traveling by first
and second class are in the ratio 1: 40 Ifr

11000 is taken as the total fare. what will

be the amount charged from first class

passengers?

I ——
- i=

.
;) (¥}

=] 'Ir"l

=

L Y

{c) ¥ BN

r"|
£a

=15 4
qma—r“ﬂ’wﬁf_ﬂ?ﬁﬂﬁﬁmqﬂrm
hﬂgﬁﬂﬁﬂﬂlﬁaﬁr1mm

e g @ 141 % = e e g <R

FO AT ATE B

(3) e3500 e
Y FE000 y
\o P —
—— -
() ¥5000
(d) #2000

A man bought a horse for a (cértain
amount and sold it at a loss of 8%. Had he

received T 1,800 more, he_ would have

1
made a profit of 145'.5. Find the cost

price of the horse-
(a) 23300

(b) 6000

[c) T3000

(d} TEOOO

FE 9 ABCD &, L x FTEF -
—57

m

g

|

| 74.

75.

@ ‘._,,-r-
|"“ = > r 3
- - o s
..--..1: 1 ?thf_,rﬂ"r'_
l\-l.
: S Series C
In paranelog:amﬂcu,v;lufnf £ x is-
D = C
___,_.--";_:'- ﬁ‘_?_‘:l
' r
A ] S
eyl £5—
s vl AT
o} 85 — =
: ;P M T
;i —
e B -‘r_' il _'_F'_F:;

(S} #> —
waﬁ%ﬁmmﬁmtﬂziuwﬁrﬁmtmﬁ
2l £ o E 25% s & gz £ o wd & 4t
& o 20 dr F 3z f) FamEr. TR AT &
a2i(E vom 1500 &, @t gw i & g T R

Fen Rt @2 =} e SETEE o
¢ - = s __._—...h—-"‘
fa) 51000 o e -
(B) 45000 —— T T gw e

- - " FET L s
(c) 30000 < e - )N

() 50000 e L
In an orchard 60% are ¢oconut trees. It
has 25% mango trees of the number of

coconut trees. And 20% of the number of
mango trees are apple trees. Accordingly.
if the number of apple trees is 1500, then
what is the total number of trees in that
orchard?

{a) S1000

(b) 45000

(c) 30000

(d}) 50000

ofz us Ty & § o Wi & wn IeE
argg o & gin = 4 T R, A IR Wy W=
WER 2
(a) s
b} F3y=
(c) o=
{d) zavq=

-
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Series ¢

If the sum of all the interior angles of a [ Study the given GTAPY. AN, ANswer the
polygon is 4 times the sum of its exterior i qUEﬂ:lrf:;na W supplyd '
angles, then the type of the polygon is-

{a) Octagan
(b} Nonagon
(c} Heptagon
(d) Decagen

76. afk 4 Rzt =t g wrw soEn oo 9t =9-d-39

o= e am? iy wfdesar i iforg- ‘ Companies

Reliance company's demand is whae

Hl:ﬂii:nmputm
- §EEREE

(a).l
13
(b) 1 f@ ol ¥ el percent of Birla company's demand?
ey [ (a)14%
(c}2 et ‘f (b) 20%
2 > 25 r (c) 24%

Er’" %
(d) 26%

}Y ; [d} ‘:_ﬁs_ —
3 f"
If 4 coins are tossed simultaneously, find : uﬁﬁﬁfrﬁi: Tﬂﬁﬁ.a}x HHHE
the probability of getting at least one Af)a} 16 " ol
head? E ' (b)a") —& ol
i : (c) 12 Wy ? ¢
(8% (dj8 v %n"
4 4 4
(b) ,;_- 16" +8¥% 210%X then the value of x is-
3 (a) 16 R
= B 3
( Jlri (b) 4 @

15 e A
. 0r e () ®
77. fim o defs & e o Aeff@ansr = aﬂgmﬁ}mmdﬁﬁ;ﬁaﬁﬁ?ﬁﬂs
o 3 g gt o @ o Pl o s @ 12 o 2253500

R o]
3500 el e o ot et 2t et @1 o e o i 2 22 <
o BIS% oo 3L pes o 2 g
00 b) 20 % ;
‘i grce el o B
Eﬁm 4 =
i (d) 162 %
500 3 ;
O e e e o e-;‘fnr A sum of money doubles itself in 5 years at an
Lo =R annual rate of simple interest and becomes
o= wht & =tn, Reer st & w5l & three times in 12 years at some other rate,
T rfmd o the lower annual rate of interest is?
(a) 14% VA g 1 HED (a) 15 %
(b) 20% : (b) 20 %
- - R [ 3
E;;;:x. (c) 15-‘; %
(d) 26% 5
(d)16< %
3

T : JALORI GATE CIRCLE, JODHPUR | Support@
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gn. Bftanmdaaa, deftamm 129 2 & ofr =}

T argerar TR ST, A 2 e e @ S g
Tz g3 &1 Wit =ar ghfi?

18
(a) 55-

(b) &
as

(c) 12
95
(d) 2
g5

A bag contains 4 red, 4 green and 12 yellow
balls, if two balls are chosen at random,

what is the probability of getting both red
balls or both green balls?

(a) 18
95

(b) 5
95
()2
q5
(d)2
95

v fa=d & g 28 |t x 22 @41, 64T, §, at
zad 11 |1 =« 7 @t x 1.5 R 9 & Fah

A box measures 28 cm x 22/cm x 6 cm, then

how many glass slabs of size 11 cm x 7 cm x

P W
1.5 cm can be keptinit?
(a) 30
(b) 32
(c)34
(d) 36

"_—?M.; ::i.-rf B

| Series C _

82 ﬂ&uﬂ_ﬂ@?ﬁjﬂmﬁm%mw
(@)1
g
(b) 2t
45 L'f,?t"{" ST L
(@ % {3 0y

“ 44
1) T A '1 lf
ST Lr———“.,}_y..
If 0.111..= 1, then0.444... wi-il be equal to?
9 9%
Ea}" W
(b}—-
(c) 2
(d).e-
99
83. Ofe g w= &1 amgae, 54 0., 18 At afiz 6 i,
ﬁﬁmﬁmﬂwm#m#m% H‘i
=1 Y = i Hard ara fifeg-

-"_-_ia} IS-LJF;{ I : = x"’ 4 il
(6124~ & Ef& : '~
(DRI ot -

(d) 1680 iy lad
If the volume of a cube is equal the
volume of a cuboid of dimensions 54 cm, 18
cm and 6 cm, then find the length of the
side of the cube? '
(a) 18 cm.
(b) 24 cm. W
(c) 12 em. : s :_:':-,: :
(d) 16 cm. ' i
0.441
84. \(ooo1ED &1 AT 1 Hie-
(a) bdad
13
(b)3!
13
(c) il
13 _ ;
(d) 2

130




85,

0.441
Find the Value of Jlu 00169 *
'[- il! £ 10
13

() !

e
() *'

(K]

21

(el)

fre my danfirs o sngga Sy ol Ry mg oy
a1 awe A

&£
22
Io
("‘\
R}
—

allll

¢ =£g'5_

,..

T

T & op

- SR
ossediss

ey il wrvar=y
ﬂﬁau#i:amﬂmmi:mﬂ’WWRHnm
rrgt &t aret oTEl & SguTE R
(a)7:2
(b)8:3
fc)d: 7.4
I I

LStudy the given graph and answer -the

given question.
I4
22

20 4
£ 3
= 8

il

Mode OF Transport

The Ratio of students who use car and
rickshaw as their means of transport is -
(a)7:2

(b)8:3

c)2:7

{d)3.8

Na, OF Stuadeng
Bald!

1 Unet = 18 Student]
-
}

5 | ' Jodhpur : jM.DHl tam mcL
a Eﬁd Jaipur = NEAR

B6.

Series C

Fyerifane aezst a1 srarsre mre )
" x i z |3 I s | 8
| r J 3|5 | 4
(a) 5

(b) 4.65

(c) 4.5

(d) 4.75
Find the arithmetic mean of the fﬂﬂ'nwing

distribution-

![ : } 2 [ 3 ]_5—]
O
(a) 5
(b) 4 65
{c)as
() 475

87. af% (x? - k)& oF TOHEYE (x - 1) &, =t k

=7

(a)=1

[P

(c) 2

(d) -2

If (x? - k) is a factor of (x - 1), then k =?
(a) -1

(b)1

(c)2

(d)-2

gs. & wé omgfa d, ol AHIIED..gAPQ = 50°

3R _- PRD = 127° &, &t x &R y &1 A1 &

(a) 50°, 70°
(b) 50°, 117°
() 722,50

(d) 502




90.

In the given figure, if AB| |CD, _ APQ = 50°
and .- PRD = 127° then what will be the
values of x and y?

P ‘p 2
EI:I" y
a4 x 11?].L
'\El q ﬂ n.r
(a) 50°, 70°
(b) 50°, 117
(c) 77°, 50°
[d) 50°, 77°
&t
(atoh ) 7149 7a fifed-

(a’-b’)(a+b)

(a) (a* + ab + b?)

(b) (a* - ab + b’)

(c) (a® + ab - b?)

(d) (3% - ab- b?)

Find the value of —{a v)

(a’-b’)(a+b)

(a) (a +ab+ b?)

(b) (a? - ab + b?)

(c) (a% + ab - b?)

(d) (a? - ab - b?)

weftaor gre 3% = 81, 81" Y = 3T gA -
H’“i’ ‘_‘,.-4"‘ -~

(a)x=2,y=1

b)x=",y=" -

) 8 Y B\ /= "

(c)x=2,y=2 Q"

(d)x=2,y=" W
2 8

/ &
Solution for the Pair of equations 3** = 81,
B1*¥=3is- :

L
{a}x=2 Y=1 lr/‘.' -“IE-,'I'*. “-‘

L% v b,

[b]x-_*y—_ L._-}‘-"L' P <

F_,// x_ﬂ“
(c)x=2,y=2 o

?

5 15
d)x=2,y="
{}H 2 y g

91.

g -

Series C

i oAt &7
3 .,

(a) = , ?p‘;ar_a;
Lo
Tk
(b) . .
16 =i
il : -
2o X i W E
(c) 0 s F 1 .. '?"‘.EE.! 5 i;:
W F F i-:h L ) ;.
tm@”" % e 2y
r" E '?f-rr-: }
The decimal expansnnn of whlr.h of the 20
following rational ' numbers is non- é‘
terminating. recurring? =
(a) =
&8
(B)2
18
7
(c) —
&0
(d) =
-
i -

92. af Rh v & vds yen = g o= R o,
ﬁmﬂ:nqﬂ@;_ﬁ:_ﬁmﬂﬁmﬂﬂﬁrmﬂ
R ot
(a) 50% € r7.,

W Mve [(gwa ""

(d) 300%
1f each side of a cube is doubled, then by

D

what percent will its total surface area
increase?

(a) 50%

(b) 100%

(c) 500%

(d) 300%
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e} 752

{2) 87

p-q’

s 'hrq%ﬁﬂﬁmﬁtmzqcﬂ= 12rs

In the given figure, O is the center of the
circle and ~ QOR ¥ 126*3nd ~ POR = 110*,

then the value of » PRQ is-
R
{aj120°
{b)gs®
fejse
{d} 8oe

!
;'
!
|
|
|
|
f

Serieg C

ﬁ ﬁﬁqﬁm-ﬁhmw&

SRR TR D RIH A g oy

wﬁmﬁﬂm%
e
S _ ==

.

At which phase of the cell cyde does the
duplication of  mitochondria and
chloroplast take place?

(2} G

{6} G

{c) Gz

{dim

wf oftal 7 sfftmson 4 o o aver o -
(a) 5zd=

(5} et

(c) TR

(d) 3o o @ ot =

The tissue found in lymph nodes and bone
marrow is-

(a) Adipose

(b) Reticular

(c} Areolar

{d) None of the above

o wtfafrg s o wre-smaeft oo Bl &7
(a) woyam

(b) P
(¢) Farem
(d} 7zt

_ﬁw

e T s = P




Series C at

which cell organeile contains hydrolytic | 102 wwIw v eI SRT RS ResyRy
enrymes? t s it R i
[z} Mescsome E i =1 . ==
{t) Lyscsome : A ST ISR {1}#&'
{c) Microsome i e
{¢] REbosome CESEai=Srs ;“l‘m]m i
og. ETWEl T HiIER] Gral A 8 Dol iR (w) Pmaw | o
=TT -: esRacRw
(b) S s = '
=== {2) Ate, B G DS
~d) === (B ASL Biv.Cv, D5~
%m is not an insectiverous or | AT B, Civ, o
carniverous plant? ?,d} 28 Bv, 8. D%
() Pircher plant , Match Column-I\with Column-TI and select
(b} Venus fiymep the correct'option from the code given below—
{c} Bumerworts | | Column-I . Column-ll
{d) Cuscuta A Leishmania donovani ! (i) Malaria e
100. && 3RS T & wTHT 70% W 5 wr | | Bf.wﬁchereﬁa bancroftd  [§) AmDEhtHSE_;
FTAT 27 b : b
T 3,
il:jr%ﬁ ‘ . | D. Entamoeba msmrymag Gv) 5:;::_:: 1
(d) TR 3 : [ () Filariasis |
About 70% of the gross global carbon is Eode: ;
ey (a) A-iv, B4E, C-il, D-i
(a) Grasslands (b) Aii, B-iv, C-v, D
{b) Forests (c) A-iil, B-v, C-iv, D-ii
(c) Oceans (d) A-iii, B-v, C-it, D4 A
(d) Agro-ecosystems 103. Mﬁmﬁmmmm 0
101. PefefEes d @ e dsm e d e S nfa ot gt g @t 22 S
UTH HTUR 93, Sl Hgead a7 (2) T8 FETEEE A o
[a}&ﬁ,ﬁﬂ_ﬁ'@ﬂﬁ @15(%@_—“_. ’ .
) 2u 7d gy gearg, T, "ig gd ASfaar (d) 37 Rt oy
(d) gze 7 fawga In mammals, which blood \rﬁsel miﬂl
Which of the following food group is richest normally carry the Iargestamuuntnfurea‘
in energy in terms of calories per gram? (a) Dorsal aorta L
(a) Cereals, Millets and pulses (b) Hepatic vein T
(b) Vegetables and fruits (6) Hénatic portal vehi 5
(c) Milk and milk products, eggs, meat and fish (d) Renal vein
(d) Nuts and oilseeds




104, eyl & dww ww & wy otz A

105.

N=TaTey ot -
(a) Wi angy
(o) BT s
© (] ST s '
(d) CcfRzg= Co-A
What is key intermediate compound linking
glycolysis to Kreb's cycle?
[a) Oxalic acid
(b) Cirric acid
(c) Pyrunag acid
(d} Aceryl Co-A
P=Afaa 4 8 = il & oy @ oot
ga &2

[alLH

Due to effect of which of the following
hormone Ovulation occurs?

i Malrasae, Trypsin, Lipase

(@] Trypsin, cnymctrypsin amylase and lipase

107. dgw vf} #a-m giata wnfas 3 scht 2 .

2] 5% ¥===
ErEa

jei =T
{d) crafEea

108.

—ag

Series ¢
which hormone Is not secreted by pituitary
gland?

(&) Growth hormane
(o) vasopressin

{c}) Melatormin

(d) Prolacun

frefafaa g | e w Fya -
(a) Trae aTeEtT REW & SER. @ e @ qrg

FoR ganE F AE aF T F}F‘E‘T—T?J—_
ﬁﬂﬂa:rznmwmgﬂ[n_”#hﬁmgr

(c) T=id sle Y RS E T snmy o,

(d) Fwiits & TerotE Ty o oy TR S,
Which of the following is an incorrect
statement?

(a) According to the Padli Exclusion Principle,
na two e can bavethe same value of all four

quantumn ramers.
(b) The valu®=€f a binary QUantum number fies

in tperragye 0 to (n-1).
(=] The/ Rutherford Model' could not explain

e stabslity of the atom.
(d] The chemucal and physical properties of

isobars are similar,

10s. Pr=ffls 4 & ehv-w wTER RS T &7

(a) OH, NH;, CHa

(b) OH;, H:0", NH,

{c} H:0, H:S. Hi5e

(d) H:PQo H:50¢ HOD,

Which of the following is not isoelectronic?
(a) OH, NH;, CHa

(b) CH;, H:O+, NH,

(¢) H:0, H:5, H:5e

{d) H:POu H:50s HTIOs

”;;u. ﬁnﬁﬁaﬂﬂmg‘mf-’-

(a) smg@ M| - N+ CO ¥
(b)Fa@ AR -C0+» H:OD—

(c) &ZraTER - NaOH + (a0 V'

f"ﬂ*’-" - Cu + 5r =

Which of the fnl!omng is a mismatched pair-
{a) Producergas-N; + CO

(b) Water gas - CO+ H:O
(¢} Soda ime - NaOH « Ca0
(d) Bronze - Cu + Sn

¢ Jodhpur : JALORI GATE CIRCLE, JODHPUR | SuPportQuti:arsh com | Call us at 9829 213 213
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e

111, Pefaf@a § | Fed man: o, R 2 dfs
& gzrgen Ry g &2
(a) =T, RfEEt, (et
(b siefter, Pzl wiftas wmetie
(c) &=, T, HIET
(d) &, TR, T i
which of the following is an examples of
element, mixture and compound respectively?
(a) Silver, silicone, alcohol
(b) Oxygen, soil, sodium carbonate
(c) Water, coal, soap
{d) Iron, paper. blood
eeermenn, TTEITER aftadT 7 SEEROI 21
(a) e & 1ot o2 A wam 1 /A T A e g
@ T T e
(c) 7a=7
(d) &t g€ g 1 g @ R E S
creseseneee 15 @0 example of a chemical change.
(a) Separation of white light into seven colors
on passing through a prism
(b) Coagulation of milk
{c) Condensation
(d) The kneaded clay becomes brittle on drying.
Pr=efafaa s fra =1 ger aarge-
ififimg (s) + eEsiewiits o= (ag) o
Arfifiran stz (aq) + erEgieE (g
(a) gate= «
., b} Reqes s
E}__fa_'g“.maﬁ?arm
(d) ffRrumes sfie
State the type of the following reaction-
Magnesium (s) +"Hydrochloric acid (ag) =
Magnesium chloride (aq) + Hydrogen (g)
{a) Combination reaction
(b) Displacement reaction
(c) Decomposition reaction
(d) Double displacement reaction
Frafafae sfafro & s d s sua g-
2PbOys) + C5) = 2Pbys) + €Oy
(a) Frd= g afamse @ siwfimm gt @ 2
(b) &rafr araafta & w1 &)
Qc}e%z sitemgs safa gt @
{d] e sroafda gt w2

112.

113.

114,

® Jodhpur : JALORI GATE CIRCLE, JODHPUR | Support@utkarsh.com | Call us at

115.

116.

117.

Series C
The correct statement regarding the
following reaction is-

2Pb0y) + Ciyy > 2Pbyy + COyg

{a) Carbon dioxide is being oxidized

(b} Carbon is getung reduced.

(c) Lead oxide is being reduced.

(d) Lead is being reduced.

Preafaf@a 4 @ s anm 2-

(3) U= 2 27 T W st & B } Rees o

& fAntoy g 2

(b} SnCl; 7= odw anet a1 gy 2

(€3 &/ &1t &1 wEmafiE g3 Caoc; 21

(d) = Rema i Frere &t o9 s 20 & & sa

pH ¥Y=9: 7 8 5 g

Which of the  following is an incorrect

statement?

(a) Bleaghing powder is formed by the action

of chiorineon dry slaked lime.

(b} SREI; is an example of a Lewis acid.

(c)The chemical formula for baking soda is CaOCk.

{d) A solution that turns blue litmus red will

probably have a pH less than 7.

Prafafaa 9 | swma g §-
AarasEwt e - C-60

(b) dwrge & FRET - WG

——

Which of the following is the mismatched pair -
(a) Buckminster fullerene - C-60

(b) Structure of Graphite - Hexagonal

{c) Main consutuent of LPG gas - Methane
(d) Aliphatic Saturated Hydrocarbons - Alkanes
Fr=fafa@a F @ s=-a omad a= 7 &7

(a) TeETERm EA v

——

(bYedoras O

(JREFTaw

(d) Edgaaa

Which of the following is not a non-contact
force?

(a) Gravitational force

(b) Frictional force

(c) Magnetic force

(d) Electrostatic force

2829 213 213



118. o= fdz dud, g -y Y Tz st ozt &

119.

2hma, Az # o deae oo pral & G A
R & orar @ o waf o & Ty A & g
TFFEnmimtigg RO o, SAOT
&

(a) e & B

(b) g R R wmgighm .
(c) =gz= & nfy a1 efrg Prow

(d) &=t vz &1 Bon

In a cricket match, while catching a fast-

ad

L

maoving ball, a fielder in the ground pulls
his hands backward with the moving ball to
reduce the velocity to zero. This acts
FEPresents ... 2

{a] Law of Gravitation

(b) Newtan's Third law of motion

{c) Newton's Second law of motion

[d] Law of conservation of energy

o= 9 & ®ug d 10A F uRmaEE § wuERa
72 oA frge smd & arn = @2

{a)edx10*C

(B} 23x10°C

{c}10x10° C

(d)36x10*C

What is the guantity of “electric charge

transferred by a current flow of 10A over 1

hours’ time?

al 64 x10*C
(b) 24 x10*C
[ch1ox10tC
[d)lex10'C g

120. 9.EN T IR U Prarg w2 9.8 m/s? & @O A

R

4l )| o
/’yﬁ:] weNs A\ Ty
Sl .
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E—nqmtﬁrqﬂmmmmt?gﬂ,s

1
m[s’ & e I o

(. S

s
.-._-1 F -
Lo4C) 4.9N N o

S I L

What is the force required to prodyce an
acceleration of 9.8 m/s? on a body of "
g 8N? Takeg=9.8 m/s.

(a) 1IN

(b) 9.8N

() 4.9N

(d) 196N

121. @ W g 4, F-TRT &% F uznf

f & (ool R g7 F IR | Tg OR)
Fgama f1d
{a}gﬁﬂiﬂﬁﬁqﬁwﬂ&mmﬁﬁﬁ
gemdagaan e ARl
Tt AR ag atad wd wrd
(o) 5 & =t sl g wenad & o AR dvew &
framt v e o S
[y T ST et & g 3R SR & Pt oy
 gyEE wmaA
In.our Solar System, the inter-planetary
region has chunks of matter (much smaller
in size compared to planets) called
asteroids. They-
(a) will not move around the Sun since they
have very small mass compared to the Sun,
{b) will move along an irregular path because
of their small mass and will drift away into

outer space.
{c) will move around the 5un in closed orbits

but not obey Kepler's laws.
(d) will move in orbits like planets and obey

Kepler's laws.

122. gz Prefaf@a 9 @ e R w W @

27
(a) &=F= =1 o=
o) or= &1 Fam
(c) =7t @1 P
Ay >riFfrss @ A
submarine work on which of the following
principle?
{a) Bernoulli's law
(b) Pascal's law
(c) Darcy’s law
{d) Archimedes' law

Jalput : NEAR MAHESH NAGAR THANA, GOPALPURA BYPASS ROAD, JAIPUR

_'“‘Hﬂjhﬁ

s W -



123. 25°C =t FHfE=7 v o a=forg-

124.

[a{%‘iﬁﬁ—f 1‘;“'5 '

(b) 273K 38

(c) 289K - ﬂﬁ'

(d) 237K

Convert 25°C to Kelvin scale-
(a) 298K -
{b) 273K

(c) 289K

(d) 237K

#{ famm 15cm s gt & Rft sraaa zdor &
40 cm g8 w fFa 21 ol 7w frm =t =dor fr
fean ¥ 20cm Tyt &) o oy, &t afafas
f&m‘-ﬁ;ﬁmﬁwﬁas’rm?

(a) 30 cm &t &

(B) 36 cm zdor & & -——’!_f

(c) 36 cm zdor & arm — 1

(d) 30 cm ador & oy

An object is placed at a distance of 40 cm
from a concave mirror of focal length 15
cm. If the object is displaced through'a
distance of 20 cm towards the mirrar, the
displacement of the image will be=

{a) 30 cm away from the mirror

(b) 36 cm away frem the rmurror

{c) 36 ¢cm rtowards the mirrof

-{d) 30 cm towards thesmigror

125. ®RwEa & ga og o gf & ufiym & af gaan

= 9

(a) ufA
(b) ggwfa

_AdgET

(d) g=o

The only planet in the solar system which
rotates from east to west is-

(a) Saturn

(b} Jupiter

(c) Venus

(d) Neptune

126.

127.

128.

129.

Series C
v Rreres a6t s o vamiow =1 fvero a3
Mﬁﬁﬁmmmmm“m
(a) amre= 3 B
(b) smm 7 Ry
(c) P 3 aedwm
(d) fRsctaer g Hachao
Which two methods should be used
together by a mathematics teacher while
teaching geometry?
(a) Inductive and Deductive Method
(b) Inductive and Analysis
(c) Deductive and Synthesis
(d) Analysis and Synthesis
Fr=faf@a F & st oot R w oz #1282
(a) o I
(b) gl g -
(c) o Pafory -~
(d) G o g
Which one of the following is not the step
of a project method?
(a) Creaung the situation,
(b) Selection of project.
(c) Formulation of project.
(d) Evaluation of the project.
TETR 29 Zm wiaaia 'w= o geedifta=a &
@ d fF=fafas 4 4 9@ aeos aadh
"] Hivw Tyt @-

(a) R &= wiae? (OHP)
(D) el & - -
(c) odfterdesa -
(d) afdm g5fzq -

In the context of 'Cone of Experience’
propounded by Edgar Dale, which one of
the following aids is 'most influential'?

(a) Over Head Projector (OHP)

(b) Calar Slide

(c) Epidiascope

(d) Working Model

Frefafém § @ a9-w Joomores o =
FRwd?

(a) ot & 77 T IRl &1 s w2

(b) BTl & s et 2t 3 7 &)

(c) o=t & oo sfeml, smedl g3 gfewiod =
ety TR, arewl ga gfewtol & ofafia ==

(d) Iwfw o

®Jodhpur : JALORI GATE CIRCLE, JODHPUR | Support@utkarsh.com | Call us at - 9829
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PRI T By EEL ST B

Which of the following is the objectives of
remedial teaching?
{a) To ehminate the knowledge related errors
of the students.
(8)To remove the leaming defects of the students.
(¢) To convert the undesirable interests, ideals
and attitudes of the students into desirable
interests. ioeals and atitudes,
(d) Al of the above
Frrmrrs wheod &1 qen st Ao sfm
nfdkgr &-
(3) 7 mem= Fw= A
(b) e F= &)
(c) FuR aE=T &
(d) 355 9 3 ¢ 74
The main purpose of diagnostic tests in the
teaching-learning process is-
[a) To provide speed.
(b] To Grow. ~
{c} To improve
{d} None of the above
131, F=faf@e § & sha aqgfe oo &
‘wetieTs & a0 F wfEfam T8 82
(3) ERFTFT -
(b) == #
(¢) Tz &1
(d|B===a
Which one of the following is not included in
the 'Recognition Type"of the objective test?
la) Muluple Choudw Rype
(6] CompletioYype
(¢) Classification Type
{d) Matchung Type
....... Aamd amgr g A gd A A R
{a) zzgfrwa
(b) &= -
(c) Baggwdy
(d) Pntzafrn
eeeeeenee. TEfRTS tO 3CCUracy and consistency
in behaviour.
(a] Objertvmy

(] Valadiry

130.

{¢) Reluanahiny

|d] Deserimination

134,

135.

(a)&FTA 2

(b)2, 334

{(c)1,293

(d)1,2,334

For Ethical Validity, it is necessary that ¢,
curriculum shguid_pl"nl'ﬂﬂtﬂ Values like......... .

1. Honesty

2. Objectivity"

3. Coopération

4. Freedom from fear and prejudice

Cede:

fa) only 2

{b)2,3and4

(c)i.2and 3

(d)1,2 3and4

Tl v 3= aitfeufadt & =7 gt &, <l -

(3) a2 moA § sFe S HEl -

(b) == sz=agel nfta &1

(c) =2 srfgefefga nivvdg F9ET Fegd Ud 8 &)

(q) &=2 nfer &1 57 =ve &1 §9 1

School mathematics does not take place in

those situations where -

(a) Children learn to enjoy mathematics.

{b) Children learn important mathematics.
_Ac) Children pose and solve meaningless

mathematical problems.

(d) Children understand the basic structure of

mathemartics.

‘gfrga gar* R R @ mutfaa 87
{a) Z=ErE -

(b) TEr=EE2

(c) g7a? &1 guméig guet

{d) Fe g s
'Integrated Approach’ is influenced by

which school of thought?
(a) Benawiguralism

{b) Gestaltizm
(c) Herbert's frve step system

(d} Scaffalding




| Download Answer key

136. &< gn & JFER FE-A1 apEh amfvm = o

137.

13E.

wTAT FaroT TE 27

(a) =fEard) wgi

(b) Z&ERT & AT I FIAT THS
(c) mumdar & s aay

(d) erditen aur Hqge-a Sagn
According to Carl Jung which is not a
common characteristic of an extroverted
personality?

{a) Conservative nature

(b) Like to work with others

(c) More concerned with accuracy

(d) Flexible and adaptive behawvior

wHiaf & fardig af g & sgar e i
H afer sroeft e arpyfaat @1 Sogin & gg
aaeart =1 Far-Tar weTaTE a4 Y S a=a
8z

(a) =T 72

(b) svawa g3

(c) sedima g

(d) Feifers g
According to  Sternberg's( | Triarchic
Intelligence theory, in which_ intelligence
to find

solutions to problems’ using his past

a person tries innovative
experiences?

(a) Practical Intelligence

(b) Experiprental'Intelligence

(c) Componential Intelligence

(d) Contextual Intelligence

&t @fer ot anfifes avft @ ;o= R A
1 & forg oz wiamr @ fF o e Y e a8
ol & & frorf gd 7o @ orfrs wfe @
&1 =R g Wy temgfes &

(a) afafara Fmfm

(b) Frrumas

(c) gehtaeen

(d) wetgor

139,

140.

Series C

In order to overcome the anxiety arising
out of his financial crunch, a person thinks
that even the dry bread of his home is
tastier than the sweets and halwa of

others. The Defence Mechanism used by
the person is-

(a) Reaction Formation

(b) Displacement

(c) Rationalization

(d) Projection

T UF dTEy G‘&m__\_ﬂm Hua IR &F WY
Iz 2, A g =3 oo mre ww @ R
waERaTE i = o fag@ wrarm -

(a) wruffe gdem

(b) f&fas gdem

(¢) T gadem

(d) fovmn =1 g

When a neutral stimulus is associated with
food or water, it acquires the property of
This theory of
Behaviouralism learning is called-

reinforcement.

(a) Primary Reinforcement

{b) Secondary Reinforcement

(c) Tertiary Reinforcement

(d) Reward of Action

.................. F yFRoTeTE O w1 e w2
HTA1 AT 1

(a) Fieq

(b) wreres

(c) smasgswan

(d) HeemE
............... is considered as the first step in
the motivational cycle..

(a) Goal

(b) Drive

(c) Need

(d) Incentive

3 #Jodhpur : JALORI GATE CIRCLE, JODHPUR | Support@utkarsh.com | Call us a



141 FrefafEy 4 @ shm few ows & 3B F

W f v Tt &7
falﬁmﬁmsfamﬂ#mﬂuﬁmh

{b) q‘it Sftead=y gt o=t &1
(c) TR wite # dera s uftada b
(d) gfg 1 A mx oit=ds ¢ REm sra o &

aFa b
Which one of the following options is not

true regarding the growth of the child?
fa) Growth is change in the size of cells and

organs.
(b) Growth contnues throughout hife.
{c) Growth is only a quantitative change in the

body.
(d) Growth is that change in the body that can

be measured.
142, wfivrord! aras & aof 7 s s & 997
#farg-

(a) Ermret a1AF & qfg S0 140 o1 31 HRF
gt 2

(b) g e aeF AT §1 8
fcjtrﬁmwcﬁmmﬁﬂﬁﬁmﬂmeﬁm#r '

(d) 37w & & &1 7
Choose the wrong option with refefehfe to

the gifted child-
(a) The inteligence quﬂﬂenf 110} of a gifted

chuld 15 140 or more,

(b) Every gifted child |sm§awe

[;] Gifted children taEé more nterest In
abstract subjects.

(d] None of the above

16 et ded &t d PefRf@a d @

a-mEEEad?

(a) Reerfidat it s & aegam fen 2

(b} fen =Y 5= s v .
;ﬁ:ﬁﬂﬁﬂﬁmﬂm T WE FR &
(d) Renfiet & e oftwg) azm

144,

SEI"ieS C
which one of the following statemeny, is
true about the functions of Eduta“ﬂnm

psychelogy?
(ay To gwe the highest education o

psychology te the students.

provide psychological base to

(b) To

educalion.
(c) To teach the students the qualities to score

good marksin the gxamination,

competition ﬂmﬂng

(d) To increase

students.

Arefafas 4 @ aF-aRew s & o

Fay e 741 &7 » i
(a) o snEw QaNTgE Zr e A witad &y

pﬁﬂmau{
(o) R SFri < TS O WA i g

&0

Lc]la-rﬁ‘::m R o )
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() s @ g4 @ R A R B

srirega s BTt 81

Which one of the following option is not a

characteristic of learning?
{a) Learning is the process of change in

practice and

behavior through

experiences.
(b) Learning is @ continuous process going on

throughout life.
(c) Learning is a universal process.
in behavior resulting
temporary in

(d) Changes from

learning are relatively
nature.
fr=fafe § & g Reaeq 1 gu7 fifag-
(a) fraidt &1 wfivefraT 3of & Fremfa et &1
(b) Bt & afirefarat & geg oRadafta gid 81
(c) ety it & R arfis g1l 21

(d) 3ugw & @ & 7
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Choose the incorrect option from the
following-

(a) Adolescent’s interests expand rapidhy.

(b) Values of interests of adolescents are
variable.

(c) There is more stability in the interests of
adolescents.

(d) None of the above

TAFUH § 3Tt guar mmE g Y gframm
@ o gu frw oa =t vy o o 2
forad mrum @ Bfy= Rwmi @ gt gand o=
AcsHmPaddr

(a) 77 FER Uiéa

(b) 5= e e -

(c) T = et

(d) st ge=n oiéa

Accepting the definition of 'Aapki Suchna
Aapka Hagq', which portal has been started
in Rajasthan, through which information
related to various departments is available
on a single platform?

(a) Jan Sanchar portal

(b) Public Information Portal

(c) Raj Information Bulletin

(d) Raj Information Portal

sanenenenn U8R FAYE TUHTOT 511 T Y RfSew =
H oftafia s Fogze sy afta s

(a) =itz

(b) FrEEmIwA
(c) 33 doar
(d) wita REm Sirdm
cesnmennneiS @M iNput device that converts
sound into digital form and transmits it to
the computer.

(a) Speaker
(b) Microphone
(c) Web camera

(d) Speech recognition software
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Series C
TS W #ATUs o 7w e ol v &
ford @ oo = ow wrw s v F it
T 8-
(3) Em=w
(b) Tz
(c) =g
(d) FRgTR
A language processor which converts an
entire program written in a high level

programming into machine

Ianguage
language at once is-

(a) Assembler

(b) Interpreter

(c) Compiler

(d) Forurfon
Fr=fafad d | sidlage = sogin s d?
{a)aTeTg= &R J13 A

(b) mudtn =u 3 0 f sEsf g
) T TuE A gream & T

(d) foFe & o & Sfaames |

Which of the following is a copyright
use?

(a) Online work sharing

(b)

confidentially

Keeping someone's  information
(c) To protect intellectual property from
misuse

(d) Saving one's work online

HTML z1 quf #4 -

(a) Hyper Text Makeup Language

(b) Holistick Technical Method Library
Ac) Hyper Text Markup Language

(d) Hyper Tax Makes Line

Full form of HTML is-

(a) Hyper Text Makeup Language

(b) Holistic Technical Method Library

(¢) Hyper Text Markup Language

(d) Hyper Tax Makes Line




